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MAJOR TEST

BEWARE OF NEGATIVE MARKING

HAVE CONTROL  HAVE PATIENCE  HAVE CONFIDENCE  100% SUCCESS

1. If A


 is perpendicular to B


 then :-

(1) A B 0 
 

(2) 
2A.[A B] A 

  

(3) A.B AB
 

(4) 2A.[A B] A AB  
  

2. The ratio of the intensities at the maxima and

minima in interference pattern is 25 : 9. What

will be the ratio of the widths of the two slits

in the young's experiment

(1) 7 : 2 (2) 16 : 1 (3) 5 : 3 (4) 4 : 1

3. Mark the correct statement :-

(1) a b | a | b  
  

(2) a b | a | b  
  

(3) a b | a | b  
  

(4) All of the above

4. A small bulb is placed at the bottom of a tank

containing water to a depth of 80 cm. What is

the area of the surface of water through which

light from the bulb can emerge out :-

(water =1.33)

(1)  2.54 m2 (2) 3.71 m2

(3) 1.11 m2 (4) 4 m2

5. Using Mass (M), Length (L), Time (T) and

electic current (A) as fundamental quantities,

the dimensions of permitivity will be :-

(1) MLT–1 A–1 (2) MLT–2 A–2

(3) M–1L–3T4 A2 (4) M2L–2T–2A

6. Figure (a) and (b) show refraction of a ray in

air incident at 60° with the normal to a glass

air and water air interface, respectively. What

is the angle of refraction  in glass when the

angle of incidence in water is 45° with the

normal to a water-glass interface figure (c):-

45°

60°
air

Glass

(a)

 

60°

(b)

30°

Air

Water
  

?

45°
Water

Glass

(a)

(1) 38° (2) 60°

(3) 90° (4) 52°

1. A


, B


 :-

(1) A B 0 
 

(2) 
2A.[A B] A 

  

(3) A.B AB
 

(4) 2A.[A B] A AB  
  

2. 

25 : 9 



(1) 7 : 2 (2) 16 : 1 (3) 5 : 3 (4) 4 : 1

3. :-

(1) a b | a | b  
  

(2) a b | a | b  
  

(3) a b | a | b  
  

(4) 

4. 
80 
       
:-
(water =1.33)

(1)  2.54 m2 (2) 3.71 m2

(3) 1.11 m2 (4) 4 m2

5.  (M),  (L),  (T)  
 (A)      
permitivity   :-

(1) MLT–1 A–1 (2) MLT–2 A–2

(3) M–1L–3T4 A2 (4) M2L–2T–2A

6.  (a)  (b)       

60° 



45° 

((c)) :-

45°

60°
air

Glass

(a)

 

60°

(b)

30°

Air

Water
  

?

45°
Water

Glass

(c)

(1) 38° (2) 60°

(3) 90° (4) 52°
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7. The angular velocity of a particle moving in a

circle of radius of 50 cm is increased in 5 min

from 100 rpm to 400 rpm. Find tangential

acceleration of the particle.

(1) 60 m/s2 (2) 
2m / s

30



(3) 
2m /s

15


(4) 

2m /s
60



8. A conducting wire frame placed in magnetic field.

The field is increasing at constant rate. The direction

of induced current in wires AB and CD are :-

A

B

C

D

B

(1) B to A & D to C

(2) A to B & C to D

(3) A to B & D to C

(4) B to A & C to D

9. A ball is projected from a point A with some

velocity at an angle 30° with the horizontal as

shown in figure. Consider a target at point B.

The ball will hit the target if it is thrown with

a velocity v
0
 equal to :-

30°A
3 m
2

B

0.5 m
v0

(1) 5 m/s (2) 6 m/s (3) 7 m/s (4) None

10. In a circuit shown in figure switch S is closed

at time t = 0. The charge which passes through

the battery in one time constant is :-

+ –

E S

RL

(1) 
2eR E

L
(2) 

L
E

R

 
   (3) 2

EL

eR
(4) 

eL

ER

7. 50 cm         
     5     100 rpm  
400 rpm        
  

(1) 60 m/s2 (2) 
2m / s

30



(3) 
2m /s

15


(4) 

2m /s
60



8. 
AB CD 
:-

A

B

C

D

B

(1) B  A  D  C
(2) A  B  C  D
(3) A  B  D  C
(4) B  A  C  D

9.        30°   

A         

B          

v
0
      :-

30°A
3 m
2

B

0.5 m
v0

(1) 5 m/s (2) 6 m/s (3) 7 m/s    (4) 
10. S t = 0 


:-

+ –

E S

RL

(1) 
2eR E

L
(2) 

L
E

R

 
   (3) 2

EL

eR
(4) 

eL

ER

      
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11. For motion of an object along x-axis, the

velocity v depends on the displacement x as

v = 3x2 – 2x. What is the acceleration at x = 2

(1) 48 m/s2 (2) 80 m/s2

(3) 18 m/s2 (4) 10 m/s2

12. A moving charge produces :-

(1) Only electric field (2) Only magnetic field

(3) Both fields          (4) No fields

13. If a lighter body (mass M
1
 and velocity V

1
 )

and a heavier body (mass M
2
 and velocity V

2
)

have the same kinetic energy, then-

(1) M
2
V

2
 < M

1
V

1
(2) M

2
V

2
 = M

1
V

1

(3) M
2
V

1
 = M

1
V

2
(4) M

2
V

2
 > M

1
V

1

14. The current in circuit is :-

VR 100 V 100 V

200 V, 50 Hz

100 

(1) 1.27 A   (2) 2 A (3) 4.26 A  (4) 3.87 A

15. A mass M of 100 kg is suspended with use of

strings A, B and C as shown in fig. where W is

vertical wall and R is a rigid horizontal rod.The

tension in string B is

45o

90o T'

B
A

M = 100 kg

C
T

R

W

(1) 100g N (2) 0

(3) 100 2 g N (4) 
100

2
g N

16. A loop of conducting wire wound over a sphere of
mass m and radius R. The plane of loop is parallel to
the plane of inclined plane and lies in equatorial plane
of sphere. If current in loop is i then value of B,
when the sphere is in equillibrium is :-

B



(1) 
mgcos

iR




 (2)

mg

iR
 (3) 

mg tan

iR




 (4) 

mgsin

iR





11. x-
xv = 3x2 – 2xx = 2

(1) 48 m/s2 (2) 80 m/s2

(3) 18 m/s2 (4) 10 m/s2

12. :-
(1)  (2) 
(3)  (4) 

13.  M
1
  V

1


 M
2
  V

2



(1) M

2
V

2
 < M

1
V

1
(2) M

2
V

2
 = M

1
V

1

(3) M
2
V

1
 = M

1
V

2
(4) M

2
V

2
 > M

1
V

1

14. :-

VR 100 V 100 V

200 V, 50 Hz

100 

(1) 1.27 A (2) 2 A  (3) 4.26 A    (4) 3.87 A

15. 100  M A, B  C 
 W 
R B 

45o

90o T'

B
A

M = 100 kg

C
T

R

W

(1) 100 g N (2) 0

(3) 100 2  g N (4) 
100

2
 g N

16. mR 



i 
B :-

B



(1) 
mgcos

iR




 (2)

mg

iR
 (3) 

mg tan

iR




 (4) 

mgsin

iR




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17. A small mass m is slipping over a frictionless

incline (as shown in the figure) made of wood

of mass M. The acceleration by which the

incline should be pushed so that block m

remains stationary is :

(1) 
g

3

(2) 
2

g
3

(3) 
g

2

(4) 
3

g
2

18. A current i uniformly distributed over cross

section of a long hollow cylindrical wire of

inner radius R
1
 and outer radius R

2
. Magnetic

field varies with distance r from axis of cylinder

as:-

(1) 
r

B

R1 R2

(2) 
r

B

R1 R2

(3) 
r

B

R1
R2

(4) 
r

B

R1 R2

19. Mark the correct statements about the friction

between two bodies

[a] static friction is always greater than the

kinetic friction

[b] coefficient of static friction is always greater

than the coefficient of kinetic friction

[c] limiting friction is always greater than the

kinetic friction

[d] limiting friction is never less than static

friction

(1) b, c, d (2) a, b, c

(3) a, c, d (4) a, b, d

17. M 

m 

m 

(1) 
g

3

(2) 
2

3
g

(3) 
g

2

(4) 
3
2

g

18. R
1
 

R
2
 

r 

:-

(1) 
r

B

R1 R2

(2) 
r

B

R1 R2

(3) 
r

B

R1
R2

(4) 
r

B

R1 R2

19. 
[a]          


[b] 



[c]         



[d]  



(1) b, c, d (2) a, b, c

(3) a, c, d (4) a, b, d

  Key Filling      
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20. For shown situation of two dipoles the nature

of forces between them are :-

p1 p1p2 p2

   (I)        (II)
(1) attraction, attraction
(2) attraction, repulsion
(3) repulsion, repulsion
(4) repulsion, attraction

21. A point P consider at contact point of a wheel on

ground which rolls on ground without slipping then

value of displacement of point P when wheel

completes half of rotation (if radius of wheel is 1m):-

(1) 2m (2) 2 4  m

(3) m (4) 2 2  m

22. If the magnitude of intensity of electric field at
a distance x on axial line and at a distance y
on equatorial line on a given dipole are equal,

then x : y is : -

(1) 1 : 1 (2) 1 : 2

(3) 1 : 2 (4) 3 2 :1

23. One quarter sector is cut from a uniform circular

disc of radius R, This sector has mass M, It is

made to rotate about a line perpendicular to its

plane and passing through the centre of the

original disc. Its moment of inertia about the

axis of rotation is :-

(1) 
2MR

2
(2) 

2MR

4

(3) 
2MR

8
(4) 2 MR2

24. Two point charges +8q and –2q are located

at x = 0 and x = L respectively. The location
of a point on the x-axis at which the net
electric field due to these two point charges

is zero is : -

(1) 8L (2) 4L (3) 2L (4) 
L

4

20. 


p1 p1p2 p2

   (I)     (II)
(1) 
(2) 
(3)  
(4) 

21. P 
P 

(1m ) :-

(1) 2m (2) 2 4  m

(3) m (4) 2 2  m

22. x 
y 
x : y 
: -

(1) 1 : 1 (2) 1 : 2

(3) 1 : 2 (4) 3 2 :1

23. R 
M 

    
 :-

(1) 
2MR

2
(2) 

2MR

4

(3) 
2MR

8
(4) 2 MR2

24. +8q  –2q  x = 0 

x = L x-

-

(1) 8L (2) 4L (3) 2L (4) 
L

4
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25. A silver ball of radius 4.8 cm is suspended by

a thread in the vacuum chamber. UV light of

wavelength 200 nm is incident on the ball for

some times during which a total energy of

1 × 10–7 J falls on the surface. Assuming on an

average one out of 103 photons incident is able

to eject electron. The potential on sphere will

be :-

(1) 1 V (2) 2 V (3) 3 V (4) Zero

26. Two balls each of mass m are hung side by side

by two long threads of equal length . If the

distance between the upper ends of threads is

r (r << ), and the distance between the balls

is r' as shown in figure, then the length of the

thread is given by :-

A

 

B

M M

xx

FF

(1) 
2gxr '

Gm
(2) 

2Gxr '

mg
  (3) 

2gx r '

G m
   (4) 

2Gx r '

mg

27. A radioactive metal sphere of radius 8× 10–3m

gives out electrons at a constant rate of

6.25 × 1010 electrons per second. If 80%  of the

emitted electrons escape from the surface, then

potential of the sphere increases by 81 volt  in

a time-

(1) 25 micro second

(2) 50 micro second

(3)  90 micro second

(4)  180 micro second

28. A satellite of mass m is orbiting in a circular

path of radius r around the earth. If its kinetic

energy is E, then its angular momentum is :-

(1) (2mr2E)1/2 (2) 

1/ 2
21

mr E
2

 
 
 

(3) 

1/ 2
22

mr E
3

 
 
 

(4) (mr2E)1/2

25. 4.8 cm 

 200 nm


1 × 10–7 J 

     

103 1 
:-
(1) 1 V (2) 2 V (3) 3 V (4) 

26. m, 
 

r (r << ) 

r' :-

A

 

B

M M

xx

FF

(1) 
2gxr '

Gm
(2) 

2Gxr '

mg
  (3) 

2gx r '

G m
   (4) 

2Gx r '

mg

27. 8× 10–3m 

6.25 × 1010 

80% 

81

(1) 25 
(2) 50 
(3)  90 
(4)  180 

28. m r 
E
:-

(1) (2mr2E)1/2 (2) 

1/ 2
21

mr E
2

 
 
 

(3) 

1/ 2
22

mr E
3

 
 
 

(4) (mr2E)1/2
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29. The cause of energy liberated in nuclear

reaction is :-

(1) Change of potential energy in to kinetic

energy

(2) Kinetic energy of resultant nucleus

(3) Energy equivalent to mass lost

(4) None of the above

30. The measurement of voltmeter in the following

circuit is (Assuming ideal voltmeter) :-

(1) 2.4 V

V
60

40

6V
+ –

(2) 3.4 V

(3) 4.0 V

(4) 6.0 V

31. The shown  figure shows three soap bubbles

A, B and C prepared by blowing the capillary

tube fitted with four stop cocks S, S
1
, S

2
 and

S
3
 with stop cock S closed and stop cocks S

1
,

S
2
 and S

3
 opened.

A B

S2
S1 S3 S

C

(1) B will start collapsing with volumes of A &

C increasing.

(2) A and C will start collapsing with the volume

of B increasing.

(3) C will start collapsing with volumes of A &

B increasing.

(4) Volumes of A, B and C will become equal

at equilibrium.

32. The accurate measurement of emf can be

obtained using :-

(1) Multimeter (2) Voltmeter

(3) Voltameter (4) Potentiometer

33. It values of Y and for a substance are 2 × 1011

Pascal and 8 × 1010 Pascal respectively. Find

Posson's ratio ().

(1) 0.25 (2) 0.50

(3) 0.75 (4) 1

29. :-
(1) 

(2) 

(3) 

(4) 

30.        :-

(   )

(1) 2.4 V

V
60

40

6V
+ –

(2) 3.4 V

(3) 4.0 V

(4) 6.0 V

31. S
1
, S

2
 S

3
 S

SS
1
, S

2
 S

3
 


A, B C  

A B

S2
S1 S3 S

C

(1) AC B


(2) B AC


(3) A B C


(4) A, B C 

32.          
 :-

(1)  (2) 

(3)  (4) 
33.        Y   

2 × 1011  8 × 1010  
 

(1) 0.25 (2) 0.50

(3) 0.75 (4) 1

Use stop, look and go method in reading the question
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34. The fundamental frequency of a sonometre wire

is n. If its radius is doubled and its tension

becomes half the material of the wire remains

same, the new fundamental frequency will be:-

(1) n (2) 
n

2

(3) 
n

2
(4) 

n

2 2

35. The quantities A and B are related by the

relation, m = A/B, where m is the linear density

and A is the force. The dimensions of B are of:-

(1) Pressure

(2) Work

(3) Latent heat

(4) None of the above

36. The distance between the nearest node and

antinode in a stationary wave is :-

(1)  (2) /2

(3) /4 (4) 2

37. The KE of molecular translation per unit

volume of a gas at 2 atmosphere pressure will

be nearly :

(1) 3 × 105J (2) 3 × 106J

(3) 3 × 107J (4) 3 × 108J

38. Two tuning forks have frequencies 450 Hz and

454 Hz respectively. On sounding these forks

together, the time interval between successive

maximum intensities will be :-

(1) 1/4 s (2) 1/2 s

(3) 1 s (4) 2 s

39. An ideal gas expands in such a way that

PV2 = constant throughout the process. Select

correct alternative

(1) This expansion is not possible without
heating

(2) This expansion is not possible without
cooling

(3) Internal energy remains constant in this
expansion

(4) Internal energy increases in this expansion

34. n 



(1) n (2) 
n

2

(3) 
n

2
(4) 

n

2 2

35.  A  B  m = A/B 
m  A  B 
 :-

(1) 

(2) 

(3) 

(4) 

36. 



(1)  (2) /2

(3) /4 (4) 2

37. 2 



(1) 3 × 105J (2) 3 × 106J

(3) 3 × 107J (4) 3 × 108J

38.   450 Hz 

454 Hz 



(1) 1/4 s (2) 1/2 s

(3) 1 s (4) 2 s

39. 
PV2 = 



(1) 

(2) 

(3) 

(4) 
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40. You are given four tuning forks, the lowest

frequency of the forks is 300 Hz. By striking

two tuning forks at a time any of 1, 2, 3, 5, 7

&  8 Hz beat  frequencies are heard.  The

possible frequencies of the other three forks

are-

(1) 301, 303 & 308

(2) 305, 307 & 308

(3) Both of these

(4) None of these

41. Three moles of an ideal monoatomic gas

perform a cycle as shown in the fig. The gas

in different states are: temperature T
1
 = 400 K,

T
2
 = 800 K, T

3
 = 2400 K and T

4
 = 1200 K. The

work done by the  gas during the cycle is :-

1 4

32

P

V

(1) 10 kJ (2) 20 kJ

(3) 5 kJ (4) 8.3 kJ

42. The equation of a wave travelling on a string

is 
x

y 4sin 8t
2 8

  
  

 
. If x and y are in cm. then

velocity of wave is :-

(1) 64 cm/sec in –x direction

(2) 32 cm/sec in –x direction

(3) 32 cm/sec in +x direction

(4) 64 cm/sec in +x direction

43 In a P-V diagram for an ideal gas (where P is

along the y-axis and V is along the x-axis), the

value of the ratio; slope of the adiabatic

curve/slope of the isothermal curve at any point

will be : (where symbols have their usual

meanings)

(1) 1 (2) C
p
/C

v

(3) 2 (4) C
v
/C

p

40. 300 Hz



1,2,3,5,78 Hz



(1) 301, 303 & 308

(2) 305, 307 & 308

(3) 

(4) 

41. 



T
1
 = 400 K, T

2
 = 800 K, T

3
 = 2400 K 

T
4
 = 1200 K 

1 4

32

P

V

(1) 10 kJ (2) 20 kJ

(3) 5 kJ (4) 8.3 kJ

42.        
x

y 4sin 8t
2 8

  
  

 
 x y 



(1) –x 64 

(2) –x 32 

(3) + x 32 

(4) + x 64 
43 P-V (P,y-

V,x-) 

      



(1) 1 (2) C
p
/C

v

(3) 2 (4) C
v
/C

p



20–04–2013TARGET : PRE-MEDICAL 2013 (NEET-UG)

10 / 35 HYour Target is to secure Good Rank in Pre-Medical 2013

MAJOR TEST

44. A body of mass 0.01 kg executes simple

harmonic motion (S.H.M.) about x = 0 under

the influence of a force shown below : The

period of the S.H.M. is :-

(+2, 0)

(–8, 0)
(–2, 0)

(8, 0)

F(N)

x(m)

(1) 1.05 s (2) 0.52 s

(3) 0.25 s (4) 0.31 s

45. As a body performs S.H.M., its potential energy

(U) varies with time (t) as indicated in :-

(1) 

U

t
O

T/4

(2) 

U

t
O

T/2 T

(3) 

U

t
O

T/2   T

(4) 

U

t
O T/2 T

44. 0.01 kg 
x = 0 


(+2, 0)

(–8, 0)
(–2, 0)

(8, 0)

F(N)

x(m)

(1) 1.05 s (2) 0.52 s

(3) 0.25 s (4) 0.31 s

45. (U)

(t) 

(1) 

U

t
O

T/4

(2) 

U

t
O

T/2 T

(3) 

U

t
O

T/2   T

(4) 

U

t
O T/2 T
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46. If cost per gram were not a concern, which of

the following substances would be the most

efficient per unit mass for melting snow from

side walks and roads. Glucose, LiCl, NaCl, CuCl
2
?

C = 12, O = 16, Li = 7, Cl = 35.5, Na = 23,

Ca = 40

(1) Glucose (2) LiCl

(3) NaCl (4) CaCl
2

47. In solid ice oxygen atom is surrounded :-

(1) Tetrahedrally by 4 hydrogen atoms

(2) Octahedrally by 2 oxygen and 4 hydrogen

atoms

(3) Tetrahedrally by 2 hydrogen and 2 oxygen

atoms

(4) Octahedrally by 6 hydrogen atoms

48. Two liquids ‘A’ and ‘B’ are mixed in the molar ratio

1 : 2 and the vapour pressure of the solution is 24

torr when the two liquids are mixed in the reverse

ratio the vapour pressure of the solution increases

by a fraction of ¼. The vapour pressure of pure ‘A’

and ‘B’ are respectively :-

(1) 20 torr, 40 torr (2) 40 torr, 20 torr

(3) 36 torr, 18 torr (4) 18 torr, 36 torr

49. PCl3 on hydrolysis gives fumes of : -

(1) H3PO4 + HCl (2) H3PO3 + HCl

(3) H3PO2 + H3PO3 (4) H3PO2 + HCl

50. 1 gm of arsenic dissolved in 86 gm of benzene

brings down the freezing point to 5.31ºC from

5.50ºC. If K
f
 ofbenzene is 4.9 ºC/m. The atomicity

of the molecule is [As – 75] :-

(1) 8 (2) 2 (3) 3 (4) 4

51. Which of the following order of solubility in water

is correct?

(1) Ba(OH)2 < Mg(OH)2

(2) BaCO3 > CaCO3

(3) CaSO4 < MgSO4

(4) Be(OH)2 > Ba(OH)2

52. If resistivity of 0.8 M KCl solution is

2.5 × 103 × cm, then 
M

 of solution will be:-

(1) 5 × 105 –1 cm2 mole–1

(2) 5 × 10–5 –1 cm2 mol–1

(3) 5 × 105  cm–2 mol

(4) 5× 10–5  cm–2 mol

46. 

,

LiCl, NaCl, CuCl
2
 ?

C = 12, O = 16, Li = 7, Cl = 35.5, Na = 23,

Ca = 40

(1)  (2) LiCl

(3) NaCl (4) CaCl
2

47.   : -
(1) 4 
(2) 2  4       


(3) 2     2      


(4) 6 

48. ‘A’ ‘B’ 1 : 2 

24 torr 



¼ 

‘A’  ‘B’  :-
(1) 20 torr, 40 torr (2) 40 torr, 20 torr

(3) 36 torr, 18 torr (4) 18 torr, 36 torr

49. PCl3   : -
(1) H3PO4 + HCl (2) H3PO3 + HCl

(3) H3PO2 + H3PO3 (4) H3PO2 + HCl

50. 1 gm 86 gm  

5.50ºC 5.31ºC 

K
f 
4.9 ºC/m  

[As – 75]:-

(1) 8 (2) 2 (3) 3 (4) 4

51.   : -

(1) Ba(OH)2 < Mg(OH)2

(2) BaCO3 > CaCO3

(3) CaSO4 < MgSO4

(4) Be(OH)2 > Ba(OH)2

52. 0.8 M KCl      
2.5 × 103 × cm  

M 
 :-

(1) 5 × 105 –1 cm2 mole–1

(2) 5 × 10–5 –1 cm2 mol–1

(3) 5 × 105  cm–2 mol

(4) 5× 10–5  cm–2 mol

Take it Easy and Make it Easy
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53. Match the column :

Drug Use

I Sodium benzoate A Antifertility

II Valium B Sweetening

III Norethindrone C Tranquilizer

IV Aspartame D Food preservative

(1) I–A, II–B, III–C, IV–D
(2) I–D, II–C, III–B, IV–A
(3) I–D, II–C, III–A, IV–B
(4) I–D, II–A, III–C, IV–B

54. Calculate 
4 2

0

MnO / MnO
E 

If 2
4

0

MnO / Mn
E 1.51V  

2
2

0

MnO / Mn
E 1.23V 

(1) 1.69 V (2) 2.69 V (3) 0.895 V (4) 5.38 V

55. Which of the following structures represents

Neoprene polymer ?

(1) ( CH–CH )2 n

C H6 5

– – (2) ( CH –C=CH–CH )2 2 n

Cl

– –

(3) ( CH –CH )2 n

CN

– – (4) ( CH –CH )2 n

Cl

– –

56. The strongest Bronsted base in the following anion

is :-

(1) ClO¯ (2) 2ClO (3) 3ClO (4) 4ClO

57. The IUPAC name of the following compound is–

H O

HHBr

(1) (S) –2–bromo–(Z)–hex–3–en–4–one

(2) (R) –2–bromo–(E)–hex–3–en–4–one

(3) (R) –5–bromo–(Z)–hex–3–en–2–one

(4) (S) –5–bromo–(E)–hex–3–en–2–one

58. Which among the following salt show anionic

hydrolysis :-

(1) CuSO
4

(2) NH
4
Cl (3) AlCl

3
    (4) K

2
CO

3

59. Wurtz reaction is not suitable to prepare :-

(1) (2) (3) (4) All

60. pH of buffer solution will be if it contains

1 mole (NH
4
)

2
SO

4
 and 1 mole NH

4
OH (K

b
 = 10–5):-

(1) 5 (2) 9

(3) 5.3010 (4) 8.6690

53.  :

 

I  A 
II  B 
III  C 
IV  D 
(1) I–A, II–B, III–C, IV–D
(2) I–D, II–C, III–B, IV–A
(3) I–D, II–C, III–A, IV–B
(4) I–D, II–A, III–C, IV–B

54.
4 2

0

MnO / MnO
E   

 2
4

0

MnO / Mn
E 1.51V  

2
2

0

MnO / Mn
E 1.23V 

(1) 1.69 V (2) 2.69 V (3) 0.895 V (4) 5.38 V

55. 


(1) ( CH–CH )2 n

C H6 5

– – (2) ( CH –C=CH–CH )2 2 n

Cl

– –

(3) ( CH –CH )2 n

CN

– – (4) ( CH –CH )2 n

Cl

– –

56.  Bronsted  :-

(1) ClO¯ (2) 2ClO

(3) 3ClO (4) 4ClO

57.   IUPAC  –

H O

HHBr

(1) (S) –2––(Z)––3––4–
(2) (R) –2––(E)––3––4–
(3) (R) –5––(Z)––3––2–
(4) (S) –5––(E)––3––2–

58.    
 :-
(1) CuSO

4
(2) NH

4
Cl (3) AlCl

3
    (4) K

2
CO

3

59.  :-

(1) (2) (3) (4) 

60. 1 (NH
4
)

2
SO

4
 1 NH

4
OH

(K
b
 = 10–5) pH :-

(1) 5 (2) 9

(3) 5.3010 (4) 8.6690
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61. Which of the following on ozonolysis gives
propanal and pentan-3-one :-

(1) H C–CH –CH=C–CH3 2 3

C H2 5

(2) CH –CH=C–C H3 2 5

C H2 5

(3) H C–C=C–C H3 2 5

C H2 5

CH3

(4) C H –CH=C–C H2 5 2 5

C H2 5

62. Calculate the amount of H
2
 which is left unreacted

in the given reaction :-

2H
2
 + O

2
  2H

2
O

If 8gm of H
2
 is mixed with 16 gm of O

2

(1) 3gm (2) 6 gm (3) 1 gm (4) 4 gm

63.


  4 10P O Salicylicacid
3CH COOH X Aspirin ;

X is :-

(1) CH
3
–COCl (2) CH

3
CHO

(3) CH –C–OC H3 2 5

O

(4) (CH3CO)2O

64. The equivalent weight of H
3
PO

4
 in the reaction is

Ca(OH)
2
 + H

3
PO

4
  CaHPO

4
 + 2H

2
O

(Ca = 40; P = 31;  O = 16) :-

(1) 49 (2) 98 (3) 32.66 (4) 147

65. Which acid salt can be used to prepare propane

by sodalime decarboxylation :-

(1) CH3CH2COONa

(2) CH3
–CH

2
–CH

2
COONa

(3) CH –CH–CH3 3

COONa
(4) 2 & 3 both

66. The 3d-orbitals having electron density in all the

three axes is :-

(1) 3d
xy

(2) 3d
z
2 (3) 3d

yz
(4) 3d

zx

67. Complete the reaction

CH –C–CH=CH3 2

CH3

CH3

 2 6

2 2

(i)B H

(ii)H O / OH ?

(1)  Me
3
C.CH

2
CH

2
OH (2) Me

3
C.CH(OH)CH

3

(3) CH –C  – CH–CH3 3

OH

CH3

CH3

(4) None of these

61. -3-

 :-

(1) H C–CH –CH=C–CH3 2 3

C H2 5

(2) CH –CH=C–C H3 2 5

C H2 5

(3) H C–C=C–C H3 2 5

C H2 5

CH3

(4) C H –CH=C–C H2 5 2 5

C H2 5

62. H
2 


8 gm H
2
 16 gm O

2
 

 :-
2H

2
 + O

2
  2H

2
O

(1) 3gm (2) 6 gm (3) 1 gm (4) 4 gm

63.


  4 10P O Salicylicacid
3CH COOH X Aspirin ;

X  :-
(1) CH3–COCl (2) CH3CHO

(3) CH –C–OC H3 2 5

O

(4) (CH
3
CO)

2
O

64. H
3
PO

4
  :-

Ca(OH)
2
 + H

3
PO

4
  CaHPO

4
 + 2H

2
O

(Ca = 40; P = 31;  O = 16) :-

(1) 49 (2) 98 (3) 32.66 (4) 147

65. 
  
(1) CH

3
CH

2
COONa

(2) CH
3
–CH

2
–CH

2
COONa

(3) CH –CH–CH3 3

COONa
(4) 2  3 

66.          3d-  
 :-
(1) 3d

xy
(2) 3d

z
2 (3) 3d

yz
(4) 3d

zx

67.  

CH –C–CH=CH3 2

CH3

CH3

 2 6

2 2

(i)B H

(ii)H O / OH ?

(1)  Me
3
C.CH

2
CH

2
OH (2) Me

3
C.CH(OH)CH

3

(3) CH –C  – CH–CH3 3

OH

CH3

CH3

(4) 
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68. The number of electrons having m = – 1 in

phosphorus atom is :-

(1) 3 (2) 4 (3) 6 (4) 9

69. CH
3
CH

2
OH 2 4NaBr / H SO A 


Pb / Na alloy B.

The compound B is used as :-

(1) antiseptic

(2) refrigerant

(3) antiknock compound

(4) anaesthetic

70. The maximum radius of sphere that can be fitted

in the octahedral hole of cubical closed packing

of sphere of radius r is :-

(1) 0.732 r (2) 0.414 r

(3) 0.225 r (4) 0.155 r

71. Select the correct product in the reaction

Me

+ CH –C–CH –Br3 2

H

CH3

 3Anhy.AlCl

(1) C(CH )3 3Me

(2) CH –CH(CH )2 3 2Me

(3) 

Me
C(CH )3 3

+

(4) 

CH3

C(CH )3 3

72. Collision theory is satisfactory for :-

(1) Zero order reactions

(2) Unimolecular reaction

(3) Fractional order reactions

(4) Bimolecular reactions

73. Which of the following is examples of aldol

reaction

(1) 2CH
3CHO dil.NaOH  CH3CHOHCH2CHO

(2) 2CH
3
COCH

3 dil.NaOH

CH3COH(CH3)CH2COCH3

(3) 2HCHO NaOH  CH
3
OH + HCO O

ⓛ

(4) (1) & (2) both

68. m = – 1 
 :-
(1) 3 (2) 4 (3) 6 (4) 9

69. CH
3
CH

2
OH 2 4NaBr / H SO A 


Pb / Na alloy B.

B    :-
(1) 
(2) 
(3) 
(4) 

70. r 

  :-

(1) 0.732 r (2) 0.414 r

(3) 0.225 r (4) 0.155 r

71.  

Me

+ CH –C–CH –Br3 2

H

CH3

 3AlCl

(1) C(CH )3 3Me

(2) CH –CH(CH )2 3 2Me

(3) 

Me
C(CH )3 3

+

(4) 

CH3

C(CH )3 3

72.   :-
(1)  
(2)  
(3)  
(4)  

73.  

(1) 2CH
3
CHO dil.NaOH  CH

3
CHOHCH

2
CHO

(2) 2CH
3COCH3 dil.NaOH

CH3COH(CH3)CH2COCH3

(3) 2HCHO NaOH  CH3OH + HCO O

ⓛ

(4) (1) & (2) 

      
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74. The energy of activation is :-

(1) The energy associated with the activated

molecules

(2) Threshold energy – energy of normal

molecules.

(3) Threshold energy + Energy of normal

molecules.

(4) Energy of product – Energy of reactants

75. Identify 'X' in the following sequence of reaction:

N NCl


CuCN

KCN
 P 4LiAlH Q 2HNOX

(1) Benzoic acid

(2) Phenyl acetic acid

(3) Benzyl alcohol

(4) Benzamide

76. The heat of solution of anhydrous CuSO
4(s)

 is

–15.9 kcal and that of CuSO
4
 . 5H

2
O(s) is

2.8 kcal. Calculate the heat of hydration of CuSO
4
:-

(1) –18.7 Kcal. (2) –13.1 Kcal.

(3) 18.7 Kcal. (4) 13.1 Kcal.

77. Invert sugar is an equimolar mixture of :-

(1) D-Glucose and D–Fructose

(2) D–Glucose and L–Fructose

(3) D–Glucose and L–Glucose

(4) D–Fructose and L–Fructose

78. At what temperature will the r.m.s velocity of SO
2

gas be the same as that of O
2
 gas at 303 K :-

(1) 403 K (2) 303 K

(3) 606 K (4) 273 K

79.

OH

 PCC 3 2CH NH

H 2H / Pd C  (P)

P will be :-

(1) 

N
H CH3

(2) 

NH–CH3

(3)  

O

(4) 

HO NH–CH3

80. Which shows maximum metallic character :-

(1) Li (2) Ca

(3) K (4) Ba

74.  :-

(1) 

(2) – 

(3) + 

(4) – 

75. X   :

N NCl


CuCN

KCN
 P 4LiAlH Q 2HNOX

(1) 

(2) 

(3) 

(4) 
76. CuSO

4(s) 
–15.9 kcal 

CuSO
4
 . 5H

2
O(s) 2.8 kcal CuSO

4 


 :-
(1) –18.7 Kcal. (2) –13.1 Kcal.

(3) 18.7 Kcal. (4) 13.1 Kcal.

77. 
(1) D-D–
(2) D–L–
(3) D–L–
(4) D–L–

78. SO
2
 r.m.s. 303 K O

2
 

r.m.s  :-
(1) 403 K (2) 303 K

(3) 606 K (4) 273 K

79.

OH

 PCC 3 2CH NH

H 2H / Pd C  (P)

P  :-

(1) 

N
H CH3

(2) 

NH–CH3

(3)  

O

(4) 

HO NH–CH3

80.  :-
(1) Li (2) Ca

(3) K (4) Ba
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81. What is wrong about [Ag(NH
3
)

2
]Cl :-

(1) It is a cationic complex

(2) Ag is in sp2 hybridisation state

(3) Diamagnetic in nature

(4) Name is diammine silver (I) chloride

82. 1st ionisation energy of Mg and Al are respectively

(in eV) :-

(1) 7.64, 5.98

(2) 7.64, 7.64

(3) 5.98, 7.64

(4) 5.98, 5.98

83. In Fe(C
5
H

5
)

2
 number of unpaired electron and

hybridisation state of iron are respectively :-

(1) 5, sp3d2 (2) 4, sp

(3) 2, dsp2 (4) zero, d2sp3

84. In which pair of molecules octet rule is not

obeyed:-

(1) PF
5
, POCl

3
(2) BCl

3
, PCl

5

(3) CF
4
, NF

3
(4) NH

3
, NCl

3

85. Number of Cr–O bond in dichromate ion (Cr
2
O

7
–2)

is :-

(1) 6 (2) 7 (3) 8 (4) 4

86. Which statement is correct :-

(1) Dihydrogen is paramagnetic

(2) Dinitrogen is diamagnetic

(3) Dioxygen is diamagnetic

(4) Dihelium is paramagnetic

87. Total number of lone pair in XeO
3
 will be :-

(1) 3 (2) 7

(3) 9 (4) 5

88. Decomposition of H
2
O

2
 decreases in

presence of :-

(1)  MnO
2

(2) dust particle

(3) Acetanilide (4) Aniline

89. Correct order of bond energy is :-

(1) HF > HCl > HI > HBr

(2) HCl > HF > HBr > HI

(3) HI > HBr > HCl > HF

(4) HF > HCl > HBr > HI

90. Which element becomes passive on exposure in

air :-

(1) Li (2) K

(3) Na (4) Be

81. [Ag(NH
3
)

2
]Cl  :-

(1) 
(2) Ag sp2  
(3) 
(4)  (I) 

82. Mg  Al1st (eV) :-

(1) 7.64, 5.98

(2) 7.64, 7.64

(3) 5.98, 7.64

(4) 5.98, 5.98

83. Fe(C
5
H

5
)

2
 

 :-
(1) 5, sp3d2 (2) 4, sp

(3) 2, dsp2 (4) zero, d2sp3

84. 
 :-
(1) PF

5
, POCl

3
(2) BCl

3
, PCl

5

(3) CF
4
, NF

3
(4) NH

3
, NCl

3

85. (Cr
2
O

7
–2) Cr–O :-

(1) 6 (2) 7

(3) 8 (4) 4

86.  :-
(1) 
(2)  
(3) 
(4) 

87. XeO
3
  :-

(1) 3 (2) 7

(3) 9 (4) 5

88.   H
2
O

2
  

 :-
(1)  MnO

2
(2) dust particle

(3) Acetanilide (4) Aniline

89.  :-
(1) HF > HCl > HI > HBr

(2) HCl > HF > HBr > HI

(3) HI > HBr > HCl > HF

(4) HF > HCl > HBr > HI

90.    

(1) Li (2) K

(3) Na (4) Be

         



20–04–2013

H 17 / 35Your Target is to secure Good Rank in Pre-Medical 2013

MAJOR TEST

PRE-MEDICAL : ENTHUSIAST,  LEADER & ACHIEVER COURSE

91. Keys are made for the taxonomy of :-

(1) Families of plants only

(2) Families of animals only

(3) Species of plants only

(4) Families or species of both plants and

animals

92. Which of the following can be normally

measured by a spirometer

(1) T.V, I.R.V., E.R.V. (2) V.C

(3) T.L.C. (4) Both (1) and (2)

93. Match the two columns (Column-I & column-II)

Column–I Column–II

(a) Order (i) A unit of classification

made of related genera

(b) Zoological park (ii) Generally identified

on the basis of

aggregates of

character

(c) Botanical (iii) Only living animals

garden of taxonomic

importance in it

(d) Family (iv) A unit of classification

made of related

families

(v) Only living plants of

taxonomic

importance in it

(1) a-i, b-ii, c-iii, d-iv (2) a-i, b-ii, c-iii, d-v

(3) a-ii, b-iv, c-v, d-iii (4) a-iv, b-iii, c-v, d-i

94. How many organisms in the list given below

respire through gills

Sponges, Coelenterates, Flatworms, Aquatic

arthropods, Molluscas, Fishes, Tadpoles,

Reptiles, Aves, Mammals

(1) Three (2) Six

(3) Two (4) Four

95. Largest botanical garden of world and Asia are

respectively located at :-

(1) Kew (England) & Padua (Italy)

(2) Howarh (India) & Kew (England)

(3) Kew (England) & Lucknow (India)

(4) Kew (England) & Howarh (India)

91. :-
(1) 

(2) 

(3) 

(4) 

92. 

(1) T.V, I.R.V., E.R.V. (2) V.C

(3) T.L.C. (4) (1)  (2) 
93.  (-I  -II)

–I –II

(a)  (i) 



(b)  (ii) 



(c)  (iii) 





(d)  (iv) 


(v) 



(1) a-i, b-ii, c-iii, d-iv (2) a-i, b-ii, c-iii, d-v

(3) a-ii, b-iv, c-v, d-iii (4) a-iv, b-iii, c-v, d-i

94. 


, , , , 

, 

(1)  (2) 

(3)  (4) 

95. 
?
(1) ()  ()
(2)  ()   ()

(3)  ()  ()
(4) ()  ()

   



20–04–2013TARGET : PRE-MEDICAL 2013 (NEET-UG)

18 / 35 HYour Target is to secure Good Rank in Pre-Medical 2013

MAJOR TEST

96. Read the following statements

(a) Electro cardio Gram is graphical

representation of the electrical activity of

heart during cardiac cycle

(b) To obtain a standard E.C.G. patient is

connected to machine with two leads one

with left wrist and one with left ankle

(c) Electro Cardio Graph is a machine

(d) Electro Cardio Gram is a machine

How many of the above statements are correct

(1) 2 (2) 1 (3) 4 (4) 3

97. Find the correct statements from the following

(A) All living phenomena are due to underlying

interactions

(B) Properties of tissues are due to interaction

among its constituent cells

(C) Properties of cellular organelles are due to

their molecular constituents and not due to

the interactions among them

(D) All living organisms present, past and

future, are linked to one another by the

sharing of common genetic material in

equal magnitude

(1) A & B (2) B & C

(3) A, B & C (4) A & D

98. How much amount of blood is recieved by

ventricles in each cardiac cycle under normal

conditions :

(1) 70 ml (2) 120 ml (3) 30 ml (4) 50 ml

99. Which of the following kingdom exhibit

heterotrophic ; holozoic and saprophytic mode

of nutrition only :-

(1) Monera (2) Protista

(3) Fungi (4) Animalia

100. Maximum green house gases released by :-

(1) America (2) India

(3) France (4) Britain

101. A coma patient virtually supported by

machines which replace heart and lungs. The

patient is otherwise brain dead. What is

incorrect about this patient :-

(1) This patient is still a living entity

(2) This patient has lost its consciousness

(3) This patient still exhibit metabolism

(4) This patient is living but has lost its self

consciousness

96. 
(a) 


(b)  E.C.G. 



(c) 
(d) 

(1) 2 (2) 1

(3) 4 (4) 3

97.  :-
(A) 


(B)   


(C) 



(D) 




(1) A  B (2) B  C

(3) A, B  C (4) A  D

98. 
?
(1) 70  (2) 120 
(3) 30  (4) 50 

99. 

:-

(1)  (2) 

(3)  (4) 
100. 

(1)  (2) 
(3)  (4) 

101. 


?

(1) 

(2) 

(3) 

(4) 


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102. Which phenomenon is shown in figure ?

(1) Biological magnification

(2) Eutrophication

(3) Acid rain

(4) Photochemical smog

103. In symbiotic association between algae and

fungi which one is not correct about lichen :-

(1) Algae prepare food for fungi and itself also

(2) Fungi provide shelter and absorb mineral

and water for its partner

(3) Lichens are very good pollution indicator

because they grow in polluted areas only

(4) In lichens both partners are so close in their

association that one would never imagine

that they had two different organisms

within them

104. In terrestrial ecosystem major conduit of energy

flow is :-

(1) Detritus food chain (2) Grazing food chain

(3) Parasitic food chain   (4) Predatory food chain

105. Which of the following is not the feature of

phylum Arthropoda :-

(1) They are schizocoelomate animals

(2) Body is covered by chitinous shell

(3) Animals contain jointed appendages

(4) Animals contain bilateral symmetry

106. Ascending trophic level in grazing (grass land)

food chain pyramid represents :-

(1) Gradual decrease in biomass from apex to

base
(2) Gradual decrease in biomass from producers

to the tertiary consumer

(3) Gradual increase of the biomass from

producer to the tertiary consumer

(4) No change in biomass

102. 

(1) 
(2) 
(3) 
(4)  

103. 
?
(1) 
(2) 



(3) 


(4) 




104.    


(1)  (2) 
(3)  (4) 

105.         

  :-

(1) 
(2) 
(3) 
(4) 

106. 

(1) 
(2) 


(3) 



(4) 
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107. Which one of the statement is true : -

(1) All organ system level animals have tube

within tube plan

(2) All blind sac animals contain bigerminal

conditions

(3) Animals having radial symmetry contain

blind sac body plan

(4) All chordates are vertebrates but all

vertebrates are not chordates

108. Process in which the fitness of one species is

significantly lower in the presence of another

species is best defined as :

(1) Competition (2) Predation

(3) Commensalism (4) Amensalism

109. Reptiles, birds and mammals resemble in the

character of their : -

(1) Amniotes

(2) Poikilothermous

(3) Monocondylic skull

(4) Amphicoelous vertebrae

110. Biological control method adopted in

agricultural pest control are based on :

(1) The ability of the predator to regulate prey

population

(2) Size of the predator

(3) Size of the prey

(4) None of the above

111. Which one of the following is a matching pair of

body feature and the animal possessing it : -

(1) Agnatha - Lamprey, Clarias

(2) Air bladder - Trygon, Betta

(3) Vertebral column - Lencelet, Salpa

(4) Viviparous - Canis, Felis

112. Fresh water present on earth is :-

(1) 97.5% (2) 0.01% (3) 2.5%  (4) 1.97%

113. Read the following (A - D) statements :-

(A) Plasma is a straw coloured, viscous fluid

constituting 55 percent of the blood.

(B) 90-92 percent of plasma is water and
proteins contribute 6-8 percent of it

(C) Globulins are needed for clotting or
coagulation of Blood

(D) Fibrinogens are primarly involved in
defence mechanism of the body.

How many of the above statements are correct:

(1) Four (2) Three (3) Two (4) One

107.  : -
(1) 


(2) 


(3) 


(4) 


108. 
  

(1)  (2) 
(3)  (4) 

109. 
 : -
(1) 
(2) 
(3) 
(4) 

110. 


(1) 

(2) 

(3) 

(4) 

111. 
 : -
(1) Agnatha - Lamprey, Clarias

(2) Air bladder - Trygon, Betta

(3) Vertebral column - Lencelet, Salpa

(4) Viviparous - Canis, Felis

112. 
(1) 97.5% (2) 0.01% (3) 2.5%    (4) 1.97%

113. (A - D) :-
(A) 

55 
(B) 90-92 6-8 


(C) 


(D) 


 :
(1)  (2)  (3)  (4) 



20–04–2013

H 21 / 35Your Target is to secure Good Rank in Pre-Medical 2013

MAJOR TEST

PRE-MEDICAL : ENTHUSIAST,  LEADER & ACHIEVER COURSE

114. 
(1) 
(2) 
(3) 
(4) O

2
  

115. ?

(1)

(2)

(3)

(4)





 
 


 
 

   
 



116. 

(a) 



(b) 

(c) 

99% 

(d) 2.5 m 


(1)  (2)  (3)  (4) 
117. 

(1) 

(2) 

(3) 

(4) 

118. (2)

(1)



(1) 

(2) 

(3) 

(4) 

114. Fishes die in water polluted by sewage due to:-

(1) Pathogen

(2) Foul smell

(3) Clogging of gills by slit

(4) Reduction in O
2

115. Which of the following is correct match of

epithelial tissue ?

(1) Squamous Bronchioles and

epithelium fallopian tube

(2) Columnar Ducts of glands

epithelium and tubular part

of nephron

(3) Cuboidal Wallsof blood

epithelium vessels and air

sacs of lungs

(4) Compound Buccal cavity

epithelium and pharynx

116. How many statements are correct :-

(a) Mammals from colder region generally have

shorter ears and limbs.

(b) A scrubber remove gases like sulphur

dioxide

(c) Electrostatic precipitates can remove 99%

particulate matter present in exhaust from

thermal power plant.

(d) Particulate size 2.5 m or less in diameter

are not for harmful for human health.

(1) One (2) Three (3) Four (4) Two

117. The correct sequence of arrangements of

segments in the leg of cockroach are ?

(1) Tibia, Trochanter, Femur, Tarsus and Coxa

(2) Trochanter, Coxa, Tibia, Femur and Tarsus

(3) Coxa, Femur, Trochanter, Tibia and Tarsus

(4) Coxa, Trochanter, Femur, Tibia and Tarsus

118. (2)

(1)

Above pyramid represents.

(1) Pyramid of grassland on the basis of

biomass.

(2) Pyramid of grassland on the basis of
number.

(3) Pyramid of aquatic ecosystem on basis of
biomass

(4) Pyramid of energy
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119. Examine the figures (A to E) given below and

select the right option out of 1-4, in which all

the structures a, b, c, d, e, f, g and h are

identified correctly :-

(B)

'c'
  

'd'

(C)

(D)

'f'

'e'

(E)

'g'

'h'

(1) a – Eye-spot e – Sieve pore

b – Pellicle f – Phloem

c – Midrib parenchyma

d – Antheridiophore g – Secondary cortex

h – Epidermis

(2) a – Contractile vacuole e – Companion cell

b – Eye-spot f – Sieve tube

c – Hold fast element

d – Gemma cup g – complimentary

cells

h – Phellogen

(3) a – Eye spot e – Sieve tube

b – Contractile vacuole element

c – Air bladder f – Companion cell

d – Archegoniophore g – Complimentary

cells

h – Cork cambium

(4) a – Eye spot e – Phloem

b – Nucleus parenchyma

c – Midrib f – Sieve pore

d – Archegoniophore g – Cork cambium

h – Secondary cortex

119.  (A to E) 

a, b, c, d, e,

f, g  h ?

(B)

'c'
  

'd'

(C)

(D)

'f'

'e'

(E)

'g'

'h'

(1) a –  e – 

b –  f – 

c –  g – 

d –  h – 

(2) a –  e – 

b –  f – 

c –  g – 

d –  h – 

(3) a –  e – 

b –  f – 

c –  g – 

d –  h – 

(4) a –  e – 

b –  f – 

c –  g – 

d –  h – 
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120. Find out the correct option :-

(a) In secondary succession, the species that in-

vade depend on condition of soil, availabil-

ity of water etc.

(b) Natural reservoir of phosphorus is rock.

Which contain phosphorus in the form of

phosphates.

(c) Oceanic reservoir regulates amount of car-

bon dioxide in the atmosphere.

(d) The biotic community is dynamic and

undergoes changes with passage of time.

(1) a,b (2) a,b,c,d

(3) b,c,d (4) b,d

121. Name of the some tissue are given below :-

Primary xylem, Phellem, Phelloderm, Secondary

Xylem, Inter fascicular cambium, Phellogen,

Primary Phloem and secondary phloem.

Out of them how many are the products of

differentiation, dedifferentation and

redifferentiation, respectively

(1) Two, Three and  Three

(2) Two, Two and  Four

(3) Four, Two and  Two

(4) Three, Three and Two

122. Micropropagation is :-

(1) Propagation of microbes in vitro

(2) Propagation of plant in vitro

(3) Growing plants on smaller scale

(4) Propagation of virus in vitro

123. The correct floral formula of Atropa belladona

is :-

(1) Br     P  A G 3+3 3+3 (3)

(2) 

(3) 

(4)     K  C A  G2+2 4  2+4 (2)

124. The scientific process by which crop plants are

enriched with certain desirable nutrients is

called :-

(1) Crop protection (2) Breeding

(3) Biofortification (4) Bioremediation

125. Endosperm is consumed by developing

embryo in the seed of :-

(1) Gram (2) Ground nut

(3) Pea (4) All of the above

120. 
(a) 


(b) 



(c) 



(d) 



(1) a,b (2) a,b,c,d

(3) b,c,d (4) b,d

121. :-

, , , ,

, , 





(1) , 
(2) , 

(3) , 
(4) , 

122.  :-
(1) 
(2) 
(3) 
(4) 

123. :-

(1) Br     P  A G 3+3 3+3 (3)

(2) 

(3) 

(4)     K  C A  G2+2 4  2+4 (2)

124. 
:-

(1)  (2) 

(3)  (4) 

125. 
:-
(1)  (2) 
(3)  (4) 
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126. Which of the following statement does not hold

true for restriction enzyme :-

(1) It recognise a palindromic nucleotide

sequence

(2) It is an endonuclease

(3) It is isolated from bacteria

(4) It produces the different kind of sticky ends

in different DNA molecule

127. The structure in which few leaf primordia &

shoot apex of monocot embryo remain

enclosed is :-

(1) Coleoptile (2) Coleorhiza

(3) Epiblast (4) Epicotyl

128. Two genes 'A' and 'B' are completely linked.

In a dihybrid cross involving these two genes,

the F1 heterozygote is crossed with

homozygous recessive parental type (aabb).

What would be the ratio of offspring in the next

generation :-

(1) 1 : 1 : 1 : 1 (2) 9 : 3 : 3 : 1

(3) 3 : 1 (4) 1 : 1

129. Persistents nucellus known as perisperm is

present in :-

(1) Black pepper (2) Beet

(3) Castor (4) All of these plants

130. If a genetic disease is transferred from a

phenotypically normal but carrier female to

only some of the male progeny, the disease is:-

(1) Hutington chorea

(2) Cystic fibrosis

(3) Pseudo ricketes

(4) Colourblindness

131. How many structure given below are not the

part of endomembranous system,

Peroxysome, Golgi body, ER, Centrosome,

Lysosome, Mitochondria, Chromoplast,

Vacuole,

(1) Four (2) Five

(3) Three (4) Six

132. Which of the following pair is not matched

correctly :-

(1) P-wave Atrial depolarization

(2) QRS complex Ventricular depolarization

(3) Father of E.C.G Einthoven

(4) S-T interval One complete heart beat

126. 
 :-

(1) 

(2) 

(3) 

(4) 



127. 

:-

(1)  (2) 

(3)  (4) 

128. 'A'  'B' 

F1 

(aabb) 

:-

(1) 1 : 1 : 1 : 1 (2) 9 : 3 : 3 : 1

(3) 3 : 1 (4) 1 : 1

129.  
:-
(1)   (2) 
(3)  (4) 

130. 

:-
(1) 
(2) 
(3)  
(4) 

131. 

Peroxysome, Golgi body, ER, Centrosome,

Lysosome, Mitochondria, Chromoplast,

Vacuole,

(1)  (2) 
(3)  (4) 

132. 
(1) P- 

(2) QRS   
(3) E.C.G  
(4) S-T  

        
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133. Which of the following is correctly matched

with the cell cycle

(1) (A) - Chromosome as well as DNA of cell

remain same

(2) (B) - Corresponds to the interval between

mitosis and initiation of DNA

replication

(3) (C) - Cell in this stage remain metabolically

active but no longer proliferate

(4) (D) - Centriole undergo duplication and

begin to move towards opposite poles

of the cells

134. In the list given below how many hormones are

steroid in nature ?

Glucagon, hypothalamic hormones, pituitary

hormones, estradiol, epinephrine, cortisol,

testosterone

(1) 7 (2) 3 (3) 4 (4) 5

135. The size of perinuclear space is :

(1) 10 – 50 Å (2) 1 – 5 nm

(3) 10 – 50 nm (4) 100 – 500 nm

136. Read the following statement (A-D):-

(A) Locomotion requires a perfect coordinated

activity of muscular, skeletal and neural

systems

(B) Visceral muscles are primarily involved in

locomotory actions and changes of body

postures

(C) Based on appearance, cardiac muscles are

striated

(D) The central part of thin filament not

overlapped by thick filament is called the

'H' zone

How many of the above statements are false :-

(1) 3 (2) 1 (3) 2 (4) 4

133.    


(1) (A) - 



(2) (B) - 



(3) (C) - 



(4) (D) - 



134. 

      



(1) 7 (2) 3 (3) 4 (4) 5

135. 
(1) 10 – 50 Å (2) 1 – 5 nm

(3) 10 – 50 nm (4) 100 – 500 nm

136. (A-D):-

(A) 



(B) 



(C) 

(D) 

 'H' 



(1) 3 (2) 1 (3) 2 (4) 4
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137. Read the two statements given below :-

(A)In C3 plants RuBisCO is found in both

mesophyll and bundle sheath cell

(B) In C4
 plants RuBisCO is found only in

bundle sheath cell and not in mesophyll

cells

(1) Both (A) and (B) are incorrect

(2) Only (A) is incorrect

(3) Only (B) is incorrect

(4) Both (A) and (B) are correct
138. Given below is a section of internal ear :-

Choose A, B, C, D, from the given options :

[A] [B] [C] [D]

(1)
Scala 

vestibuli

Scala 

tympani
Scala media

Basilar 

membrane

(2)
Scala 

tympani

Scala 

vestibuli
Scala media

Basilar 

membrane

(3)
Scala 

vestibuli

Scala 

tympani
Scala media

Reissner's 

membrane

(4) 
Scala 

tympani 

Scala 

vestibuli
Scala media

Reissner's 

membrane

139. Evolution of O2 is related to :-
(1) Hill's reaction
(2) Blackman's reaction
(3) Moll's half leaf experiment
(4) Calvin cycle

140. Which of the following statement is false :-
(1) The photopic vision and colour vision are

function of cones and the scotopic vision
is the function of rods

(2) The light rays in visible wavelength focussed on
the retina through the cornea and lens generate
potentials in rods and cones

(3) Light induces dissociation of the retinal
from opsin resulting in changes in the
structure of the opsin

(4) The inner layer of eye is retina and it
contains three layers of cells-from inside to
outside photoreceptor cells, bipolar cells
and ganglion cells

137. :-
(A)C3 RuBisCO 



(B) C
4
 RuBisCO 


(1) (A)  (B) 
(2)  (A) 
(3)  (B) 
(4) (A)  (B) 

138. section :-

A, B, C, D, 

[A] [B] [C] [D]

(1)
Ldsyk 

osLVhcwyh

Ldsyk 

fVEisuh

Ldsyk 

ehfM;k

vk/kkj 

f>Yyh

(2)
Ldsyk 

fVEisuh

Ldsyk 

osLVhcwyh

Ldsyk 

ehfM;k

vk/kkj 

f>Yyh

(3)
Ldsyk 

osLVhcwyh

Ldsyk 

fVEisuh

Ldsyk 

ehfM;k

jkbtulZ 

f>Yyh

(4) 
Ldsyk 

fVEisuh

Ldsyk 

osLVhcwyh

Ldsyk 

ehfM;k

jkbtulZ 

f>Yyh
139. O2 

(1) 
(2) 
(3) 
(4) 

140. 
(1)    


(2) 



(3) 


(4) 



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PRE-MEDICAL : ENTHUSIAST,  LEADER & ACHIEVER COURSE

141. When sucrose is loaded in the sieve tubes

it's :-

(1) Water potential decreases
(2) Osmotic pressure increases
(3) Solute potential decreases
(4) All of these

142. Read the following statements (A-D) :
(A) The dorsal portion of the forebrain consists

of four round swellings called corpora
quadrigemina

(B) The medulla of the brain is connected to
the spinal cord

(C) Unmyelinated nerve fibre is enclosed by a
Schwann cell that does not form a myelin
sheath around the axon, and is commonly
found in autonomous and somatic neural
systems

(D) Myelinated nerve fibres are found is spinal
and cranial nerves

How many of the above statements are true :-
(1) 4 (2) 1 (3) 2 (4) 3

143. Chemoautotrophic bacteria that plays important

role in nitrogen metabolism :-
(1) Rhizobium (2) Nitrosomonas

(3) Rhodospirillum (4) Both (2) and (3)

144.  :-

This diagrammatic representation shows which

type of natural selection.
(1) Directional selection
(2) Stabilising selection
(3) Disruptive selection
(4) None of these

145. Which process does not take place during

Kreb's cycle ?
(1) Carboxylation
(2) Condensation
(3) Oxidative decarboxylation
(4) Substrate level phosphorylation

141. 
:-
(1) 
(2) 
(3) 
(4) 

142. (A-D) :-

(A) 


(B) 
(C) 



 

(D) 



(1) 4 (2) 1 (3) 2 (4) 3

143. 
 :-
(1) Rhizobium (2) Nitrosomonas

(3) Rhodospirillum (4) (2)  (3) 

144.

Q
hu
ksV
kb
i 

ok
y
s O
;f
"V
;k
sa

d
h 
l
a[;

k

izkÑfrd oj.k
}kjk ilUn
QhuksVkbi

e/;e lkbt
ds O;f"V ialn 
fd, tkrs gSa

nks f'k[kj :i

 :-


(1) 
(2) 
(3) 
(4) 

145.  ?
(1) 
(2) 
(3) 
(4) 
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146. 
:-
(1) 
(2) 
(3) 
(4) (1) (2)

147. 
 :-
(1) Auxin (2) Gibberellins
(3) Ethylene (4) ABA

148. :-
(A) 


(B) 
(C) 
(D) 

(1) A  D

(2)  A, B  C

(3)  A  B

(4) D
149. 

:-

(1)  (2) 

(3)  (4) 

150. (A-D) :-
(A) () 

(B) 


(C) 


(D) 



(1)  (2)  (3)  (4) 

151.  ?

(1) DCMU (2) 

(3) CO (4) 

152.  
 :-
(A) (B) 
(C)  (D) 
(1) A, B, D (2) A, B, C

(3) A, B, C, D (4) Only A

146. Which of the following is responsible for

evolution according to Neo Darwinism :-

(1) Mutation

(2) Natural selection

(3) Mutation and natural selection

(4) Either (1) or (2)

147. Which hormone fits in both category, inhibitor

as well as promoter :-

(1) Auxin (2) Gibberellins

(3) Ethylene (4) ABA

148. Which is incorrect statement :-

(A) Wings of butterfly, flying fish and bird are

analogous

(B) Wings of insects and birds are analogous

(C) Wings of bats and birds are homologous

(D) Wings of insects and birds are homologous

Option

(1) Statement A and D
(2) Statement A, B and C

(3) Statement A and B
(4) Statement D

149. A pigment that plays important role in

phenomenon like seed germination and

flowering is :-

(1) Phytochrome (2) Cytochrome

(3) Chlorophyll (4) Anthocyanin

150. Read the following (A-D) four statements :-

(A) The first mammals were like shrews

(B) De-Vries believed mutation caused

speciation  and hence called it saltation

(C) Darwin's finches represent one of the best

example of adaptive radiation

(D) Evolution is not a directed process in the

sense of determination.

How many of the above statements are not

incorrect

(1) Two (2) Four (3) One (4) Three

151. Which of the following is not an inhibitor of

cellular respiration ?

(1) DCMU (2) Cyanide

(3) CO (4) Malonate

152. Which of the following factors helps in

Biological evolution :-

(A)Adaptations (B) Natural selection

(C) Mutation (D) Variations

(1) A, B, D (2) A, B, C

(3) A, B, C, D (4) Only A
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153. Correct match list-1 with list-2

List-1 List-2

(A) Glycosuria (i) Inflammation of

glomeruli of

kidney

(B) Ketonuria (ii) Presence of

glucose in urine

(C)  Glomerulonephritis (iii) Excess of urea in

blood

(D) Uremia (iv) Presence of ketone

bodies of urine

(1) A-(i), B-(ii), C-(iii), D-(iv)

(2) A-(ii), B-(iv), C-(iii), D-(i)

(3) A-(ii), B-(iv), C-(i), D-(iii)

(4) A-(i), B-(ii), C-(iv), D-(iii)

154. Charles Darwin concluded that :-

(1) Existing living forms share similarities to

varying degree not only among themselves

but also with life forms that existed of

millions of years ago

(2) There was a fast evolution of life forms on earth

(3) Those organisms, who are better fit in an

environment leaves less progeny

(4) All of the above

155. Which of the following factors decreases renin

secretion :-
(a) Increased BP

(b) Increased plasma Na+ concentration
(c) Prostaglandins

(d) Angiotensin-II
(e) Increased sympathetic activity

(1) a,b,d (2) a,b,c (3) a,c,d (4) b,c,e

156. A mutant microorganism unable to synthesize

a compound required for its growth but able to

grow if the compound is provided is known as:-

(1) Auxotroph (2) Prototroph

(3) Autotroph (4) None of these

157. Which of the following is mismatch :-

(1) Mucous cells  The mucous and 
3HCO

secreted by them protect the stomach

epithelium from alkaline gastric secretion

(2) Oxyntic cells  Secrete HCl and intrinsic

factor

(3) Chief cells  Secrete pepsinogen

(4) Endocrine cells  Secrete histamine and

serotonin

153. -1  -2 

-1 -2

(A) Glycosuria (i) 


(B) Ketonuria (ii) 


(C) Glomerulonephritis (iii) 


(D) Uremia (iv) 


(1) A-(i), B-(ii), C-(iii), D-(iv)

(2) A-(ii), B-(iv), C-(iii), D-(i)

(3) A-(ii), B-(iv), C-(i), D-(iii)

(4) A-(i), B-(ii), C-(iv), D-(iii)

154. :-
(1) 



(2) 
(3) 


(4) 
155. renin 

:-
(a) BP 
(b) Na+ 
(c) 
(d) -II
(e) 
(1) a,b,d (2) a,b,c (3) a,c,d (4) b,c,e

156. 

:-
(1)  (2) 

(3)  (4) 
157. :-

(1)   
3HCO  


(2) Oxyntic   HCl Intrinsic 


(3)  Pepsinogen 
(4)   histamine  serotonin


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158. The possibility of a female becoming a

haemophilic is extremely rare because mothers
of such a female has to be at least carrier and

the father should be _______
(1) Carrier (2) Haemophilic

(3) Normal (4) None

159. Read the following five statement and answer

as asked next to them ?

(a) Digestion of protein is accomplished in

small intestine

(b) Enterokinase is a enzyme of pancreatic juice

(c) Haustra are enlarged rectal veins

(d) Zinc is required for the activity of

carboxypeptidase

(e) Spicy food may cause indigetion

How many of the above statements are correct?

(1) Four (2) One (3) Two (4) Three

160. ______ is an autosome linked recessive trait

that can be transmitted from parents to the

offspring when both the partners are carrier for

the gene

Fill the blank with correct option : -

(1) Haemophilic

(2) Colourblindness

(3) Sickle cell anaemia

(4) More than one option are correct

161. Skeletal muscles reamins attached at the non-

movable part and movable part of the bone by:-

(1) Ligament

(2) Tendon

(3) Yellow fibrous connective tissue

(4) Both (1) and (3)

162. Two organisms mate. One is heterozygous for

tallness (Tt) and other is homozygous recessive,

What are the possible phenotypic out comes for

this mating :-

(1) 4 tall offspring

(2) 3 tall offspring, 1 dwarf

(3) 2 tall offspring, 2 dwarf

(4) 4 Dwarf offspring

163. Endocrine gland is :
(A)Ductless gland
(B) Shows widely spreaded effect
(C) Shows very fast speed
(D) Hormonal gland

How many statements are correct :-

(1) One (2) Two

(3) Three (4) All of the above

158. 

_______  
(1)  (2) 

(3)  (4) 

159. 

(a) 

(b) 

(c) 

(d) Zn 

(e) 



(1)  (2)  (3)  (4) 

160. ______ 


 
 : -
(1) 
(2) 
(3) 
(4) 

161. 

(1) 
(2) 
(3) 
(4) (1)  (3) 

162. (Tt) 



:-

(1) 4 
(2) 3  1 
(3) 2 , 2 
(4) 4 

163.  :
(A)
(B) 
(C)
(D) 

(1)  (2) 
(3)  (4) 
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164. Morgan worked with Drosophila because :-

(i) They could be grown on simple medium

(ii) Complete their life cycle in about six weeks

(iii) Single mating could produce a large

number of progeny flies

(iv) Clear differentiation of the sexes male

(large size)  and female (small size)

Choose the correct option :-

(1) i, ii, iv (2) i, iii

(3) i, iv (4) i, ii, iii, iv
165. Carefully observe the given flow chart and

identify the incorrect ones :-

Liver

a Glucose output

b

c

Protein synthesis

Lipogenesis

Skeletal muscle

d Glucose entery

e

f

 Amino acid

K  uptake+

Adipose tissue

g Lipogenasis

h

i

Inhibits lipolysis

Glucose entry

INSULIN

( Increase)    ( Decrease) 

(1) a,d,e,f (2) b,d,i

(3) b,d,e,f,i (4) a,b,e,f,i

166. Which of the following is the reason of frame

shift mutation : -

(1) Deletion of base pairs of DNA

(2) Insertion of base pairs of DNA

(3) Change in single base pair of DNA

(4) Both (1) and (2)

167. Hormones are different from enzymes on the

basis of biological activities because :-

(1) Hormones are irreversible in nature, can

stimulate or inhibits the activities where as

enzymes are reversible in nature can

stimulate activities

(2) Hormones are reversible in nature can

stimulate the activities as well as enzymes

are reversible in nature can stimulate

activities

(3) Hormones are reversible in nature can

stimulate the activities where as enzymes

are irreversible in nature can stimulate

activities

(4) Hormones are irreversible in nature but only

inhibits the activities and enzyme are also

having some impact

164.  :-

(i) 
(ii) 
(iii) 


(iv) 



(1) i, ii, iv (2) i, iii

(3) i, iv (4) i, ii, iii, iv

165. Flow chart 
:-


a Glucose output

b

c

Protein synthesis

Lipogenesis

d Glucose entery

e

f

 Amino acid

K  uptake+

Adipose tissue

g Lipogenasis

h

i

Inhibits lipolysis

 Glucose entry

INSULIN

( Increase)    ( Decrease) 



(1) a,d,e,f (2) b,d,i
(3) b,d,e,f,i (4) a,b,e,f,i

166.  : -

(1) 

(2) 

(3) 

(4) (1)  (2) 

167. 

:-

(1) 

  



(2) 





(3) 





(4) 


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168. Match the column :-

(A) (i) Affected female

(B) (ii) Male

(C) (iii) Female

(D) (iv) Mating between relatives

(E) (v) Affected male

(vi) Mating

(vii) Sex unspecified

(1) A-ii, B-iv, C-i, D-vii, E-vi

(2) A-ii, B-vi, C-i, D-vii, E-iv

(3) A-ii, B-i, C-vii, D-vii, E-iv

(4) A-ii, B-vi, C-iii, D-vii, E-iv

169. Vestibular apparatus is composed by three

semicircular canals and the otolith organs

consisting of the -

(1) Saccule and utricle

(2) Cristae and macula

(3) Organs of corti and its hair cells

(4) Ampulla and cristae ampullaris

170. Commonly used vectors in human genome

project : -

(1) YAC and MAC

(2) YAC and BAC

(3) YAC, BAC and MAC

(4) Only YAC

171. Which of the following number of cranial

nerves are related with tongue :-

(a) iii (b) iv (c) v (d) vi

(e) vii (f) ix (g) x (h) xi

(i) xii

(1) a,b,c (2) e,f,i

(3) c,d,e (4) d,e,g

172. How many statement are not correct : -

(a) Mendel cross pollinated the tall F1-plants

(b) In DNA replication deoxiribonucleoside

triphosphate serve dual purposes

(c) In insulin chain A and chain C are linked

with disulphide bond

(d) The repressor of the operon is synthesised

all the time from the i gene

(1) 1 (2) 3 (3) 2 (4) 4

168. 

(A) (i) 

(B) (ii) 

(C) (iii) 

(D) (iv) 

(E) (v) 

(vi) 
(vii) 

(1) A-ii, B-iv, C-i, D-vii, E-vi

(2) A-ii, B-vi, C-i, D-vii, E-iv

(3) A-ii, B-i, C-vii, D-vii, E-iv

(4) A-ii, B-vi, C-iii, D-vii, E-iv

169. 

-
(1) 
(2) 
(3) 
(4) 

170. 
 :-
(1) YAC  MAC

(2) YAC  BAC

(3) YAC, BAC  MAC

(4)  YAC

171. 
:-
(a) iii (b) iv (c) v (d) vi

(e) vii (f) ix (g) x (h) xi

(i) xii

(1) a,b,c (2) e,f,i

(3) c,d,e (4) d,e,g

172.  :-

(a)  F1 
(b)     


(c) A C 


(d)  (i) 


(1) 1 (2) 3 (3) 2 (4) 4
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173. Given below is the diagramatic view of male

reproductive system. In which one of the options

all the four part A, B, C and D are correct :-

  A      B    C      D

(1) Penis Prostate Seminal Vas

gland vesicle deferens

(2) Urethra Bulbourethral urinary Epididymis

gland  bladder

(3) Urethra Bulbourethral Seminal Epididymis

gland vesicle

(4) Penis Bulbourethral Seminal Vas

gland vesicle deferens

174. Which country has highest population density?

(1) America

(2) India

(3) Bangladesh

(4) England

175. Consider the following statements :-

I Oxytocin is a milk let down hormone

II Progesterone cause strong constriction of

endometrium during pregnancy

III Relaxin causes strong contraction in uterine

myometrium during parturition

Which of the statements given above is are correct

(1) I only (2) II and III

(3) III only (4) I, II and III

176. Which of the following is secreted by the chief

cells :-

(1) Pepsinogen

(2) Prorennin

(3) Gastric lipase

(4) All of the above

173. 
A, B, C  D 
:-

  A      B    C      D

(1)    
 

(2)    


(3)    


(4)    
 

174. 
(1) 
(2) 
(3) 
(4) 

175. :-
I 

II 



III 



:-
(1) I only (2) II and III

(3) III only (4) I, II and III

176. 
(1) 

(2) 

(3) 

(4) 

Time Management is Life Management
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177. The below diagram represents the

diagrammatic section view of ovary.

Identify A, B, C and D

A B

C

D

(1) A Tertiary follicle

B Primary follicle

C Graafian Folicle

D Corpus luteum

(2) A Primary follicle

B Graafian follicle

C Tertiary follicle

D Corpus luteum

(3) A Primary follicle

B Tertiary follicle

C Graafian follicle

D Corpus luteum

(4) A Tertiary follicle

B Primary follicle

C Corpus luteum

D Graafian follicle

178. Identify the incorrect match :-

(1) Saliva – 1500 ml/day

(2) Bile – 2000 ml/day

(3) Gastric juice – 2000 ml/day

(4) Urine output – 1500 ml/day

179. Which of the following stimulate pancreatic

secretion ?

(1) ACh (2) Secretin

(3) CCK-Pz (4) All of the above

180. How many of the following statements are

correct ?
a. Skatole gives for foul odour to the faeces
b. Large intestine has symbiotic commensals

and parasitic bacteria
c. Serosa is composed of tunica adventitia and

squamous epithelium
d. pH of stomach is 1.5 – 3.0
(1) a and b (2) b and c

(3) a, b and d (4) a, b, c and d

177. 

A, B, C  D 

A B

C

D

(1) A Tertiary follicle

B Primary follicle

C Graafian Folicle

D Corpus luteum

(2) A Primary follicle

B Graafian follicle

C Tertiary follicle

D Corpus luteum

(3) A Primary follicle

B Tertiary follicle

C Graafian follicle
D Corpus luteum

(4) A Tertiary follicle

B Primary follicle

C Corpus luteum

D Graafian follicle

178. :-
(1) – 1500 ml
(2) – 2000 ml
(3) – 2000 ml
(4) – 1500 ml 

179.        
 ?
(1) ACh (2) 
(3) CCK-Pz (4) 

180. 
a. 
b. 


c.    


d. pH 1.5 – 3.0 
(1) a b (2) b c

(3) a, b d (4) a, b, c d
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